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I Source for nRYN requiring Nax
a  nonw: v. 1-source for n2y (27 verse) — v. 3
b n5ap: v. 2 — and obligation for Yapn to be standing in pax — from np% = np» 19 (take himself)
i Challenge: the source is v. 4; but why was it singled out in v. 3 (x'w1 VYW)?
1 Perhaps: to make it the only vyw that requires nax?
2 Therefore: v. 1 establishes that all mxon require pax
(a) And: 13y is derived from the double mention in 7 Xp» —in re: T NPYY and TN’ Nawa
ii  Question: then what is MR (v. 3) excluding
1 Suggestion: excluding nwm 9w (brought as “nron” during dedication of 12vn — 1 72702 - but not for a sin)
(a) Reason: according to nTi? '3, v. 3 extends nN2no to NN VYWY — RV it requires Nax as well -HY"np
(i) Challenge (82237): that only works for »; w"1% (who extends to 1"y 1'yw) — what is 1M excluding?
1. Embedded challenge (X12°275): even according to »™ — text only extended to n2’no, nothing else
2. And: if we could use 2R 11 to extend pax (if not for vVIyn), then use same aR 11 for NINO
3. Rather: we don’t infer rules of special 127p (e.g. WM YY) from permanent N30 ("MNT”)
2 Suggestion: MR excludes the vmw from having to stand in nax (as above, he could reach in)
(a) Challenge: that is inferred from ®'MR "1’s MW7 on v. 5 — MR and not the VMW required to be in pax
(i) Background: we know that Yapn must be in pax (if not — %109) — 9"np that VMW need not be there
3 Suggestion: ymR excludes 91 from requiring 11ax — in spite of requiring 103 for np*on (1 from IRY, 911 NV NWY)
(a) Challenge: 18 requires 93, unlike 91 —no 1"p
4 Suggestion: 1mR excludes noa from requiring pox — in spite of it having y1ap 1 (1 from n%w, which doesn’t)
(a) Challenge: Wy is 553
(i) Note: we may have inferred from nxvn or Dwy;
1. Challenges: nron is 7931, DWR is 7"p7p — for that matter, all three are 1"p1p
5  Resolution: back to original — 1mR excludes vmw from having to be in pax
(a) And: ®nr’7's comment was meant to put the 1 apn in nay; he doesn’t agree with np» ¥9=np% (above)
I 7378 93 X7X8 77 source for 21y for Paxa %Y (NYam) nvmy
a  First version: v"p from nrvn, which is derived from n%y
i Challenge: nRon is 9950
b clarification: R"aR7’s reasoning: no precedent for derived point (here - nron) to be more severe than its source (n5)
i challenge: 7wyn is redeemed, but that which is bought with 9wyn 9v3 cannot be
1 proof: dispute nT» "1/0nan if it can be redeemed if Xnvy - all agree it may not be redeemed if not xnwv1
2 answer: that's because n”2 mpYn is “weaker” and cannot affect 1379 '17, unlike w"yn itself
ii  challenge: NN can attach to y1ap n"va, unlike primary vTpn
1 answer: nnn is attached to D*W7p; DW1p are rooted in 51N (original identity)
iii ~ Challenge: noa 9mn requires 0’a01 etc.; unlike noa itself
1 Answer: noy, the rest of the year, is a Dn%w (which requires o0 etc.)
¢ Alternatively: n'wn (vv. 1-4; 6-8 et al) means — it’s place is 20yn

www.dafyomivicc.org 40 © Yitzchak Etshalom 2010




MU0 TIVRIDT YRR DRI Q°rar noon MY AT TIHY My e

III  Source for DWR requiring Nax
a  v.6; nYap from T XY ONW (and 0T NRY extends to Yapn); 219°Y from repetition in v. 7
i Challenge: v. 7 needed to teach rule of w1n 7271 NTY R¥N K921 NW 127 Y3...that w/o DWRN NRYNI, R”T0 NO P1INR/DT
1 Explanation: y71¥n DWR has “new” law — mnna 1R inn — but v. 7 “restores” it to be like nxron — PRy 07
2 Answer: if that were all it were teaching, could be written only in v. 7; v. 6 is the “2"” mention — 2295
(a) Challenge: this is only valid if we assume that w11 7272 Y XY can still inform us about rules that be-
long to the 59 (e.g. Nax nVNWY)
(b) But: if we assume that it cannot teach us about that either, than X Dwxn nroN is needed to teach itself
— that this DwR is paxa vnwa
(c) Answer: once the text restored it to the general pool of mnwy, it’s “in”, and automatically has nax 7
(i) Challenge: perhaps it only restores it for mmay that require 112 (as per v. 7);
1. But: perhaps no'nw can be done anywhere
2. Answer: that’s why it states R0 DWRN nrond — that it should be (fully) like other mnwxr
IV Question about v. 7 — why does WX need to be compared to both nxron and n»y?
a  ~ra7if only compared to nron, we would (erroneously) see that we can “daisy-chain” Dwp’n (n21»>NRON->DYR)
i Question: then why not compare to 0% alone?
ii ~ Answer: if so, we would think that either way is valid (vp>n wp>n), but the text chose n%' as that is the source
1 Therefore: it stated both, to demonstrate that wp>na a5, 1N 1R VP2 TAYA 927
b  »27 saw this rule elsewhere — v. 8 — compares 1”3 79 to DNV
i Purpose: to teach about n™ R of 0”3 79 -
1 Challenge: they are written explicitly there
2 Answer: the phrase generates a “virtual” text of ¥"» 927 n»n 18 — so that it is as if written there
(a) And: can now inform about 1"y *1yw (to which ¥"97 BYYn 79 is compared)
(b) Teaching: that wp>na TAYM NN 1R VPN TAYN 72T
(i) Challenge (X275 977): why not just write the p7m°R explicitly in context of x"97 05y 18?
(if) Amnswer: if it did so, we would think that we could “daisy-chain” a wp’n, but the n7n elected to
write it explicitly
(iii) - itleaves it as “virtual” text, to teach our rule: wprna TNHM NN WR YPN2 TAYN 12T
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